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Aromatic Compounds

Which one of the following reactions does not occur?

NH, NH2 NHCOCH:

NH;
(1) @ +HNO3/H2S0s ——> @ (2) +(CH3C0O)20/Pyridine — @
NO:2

NH2 NH; NH:

NH:2
(3) @ +AICl3 + CH3Cl —> @ (4) @ 80—
CHs

SOzH
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Aromatic Compounds

Which one of the following reactions does not occur?

NH; NH, NH2 NHCOCH3
(1) @ +HNO3/H2S04 ——> @ (2) @ +(CH3CO),0/Pyridine — @
NO2
NH2 NH2 NH2 NH>
(3) @ +AICI3 + CHsCl —> @ (4) @ +H2804 —> @
CHs SO3H
Ans =3

FCR does not takes place at aniline or phenol.
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Aromatic Compounds

The major product of the following reaction is :

OH
7 CH
ﬁo > AICl.A
+ —_—)
OH OH e Ol

CHs CHs Gz M
(1) (2) (3) (4) @)
0 0
0
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Aromatic Compounds

The major product of the following reaction is :

OH
7 CH
ﬁo > AICl.A
+ —_—)
OH OH e Ol

CHs CHs Gz M
(1) (2) (3) (4) @)
0 0
0

Ans =3
FCR at para followed by intramolecular cyclization.
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Aromatic Compounds

The major product of the following reaction is :

CHs30
CH:CI

(i) AICI 5 (anhyd .)
(i) H;0

o

CH30 CHsO

OCHs

CHs0O
CHs
) ijo/ @) m
Ha
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Aromatic Compounds

The major product of the following reaction is :

CHs30
CH:CI

(i) AICI 5 (anhyd .)
(i) H;0

o

CH30 CHsO

OCHs

CHsO
CHs
Ha

Ans =1
FCR at para to methoxy.
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What will be the major product in the following mononitration reaction?

S
N HNO,
| ConcH,S0,
H

Aromatic Compounds

b 4
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What will be the major product in the following mononitration reaction?

@\ O
T*@ HNog N
ConcH,SO, ~
H

oK SEE:
(1) N)L@\ 2) N’M\‘@
I!i NO:2 J!
TS QW
® ".‘)@ (@) ON ’V@
H

Ans =3
At activated ring , at para position.

Aromatic Compounds
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Aromatic Compounds

The major product of the following reaction is :

=1 sifwfohan &1 J&g IIg ©

HO X (1) Hcl y
(2) AlCI(Anhyd.
Cl HO
(1) (2) \QQ\
Cl HO
& m @)
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Aromatic Compounds

The major product of the following reaction is :

=1 sifwfohan &1 J&g IIg ©
HO X (1) Hcl y
(2) AlCI(Anhyd.
Cl HO
(1) (2) \QQ\
Cl HO
(3) m (4)

Ans =2
FCR at para to -OH group.
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Aromatic Compounds

The major product of the following reactions is :
CHs0O
\O/\/\\ (1) ClL/CCls )
(2) AICl3 (Anhyd.)
CH30
(1) \OO\ (2) CHsO
Cl

(3) CH30 (4) CH30
Cl

Cl

Cl
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Aromatic Compounds

The major product of the following reactions is :
CHs0O
\O/\/\\ (1) ClL/CCls )
(2) AICl3 (Anhyd.)
CH30
(1) \OO\ (2) CHsO
Cl

Ans =3 Cl

FCR at para to -OMe group.

Cl

Cl
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What is the correct sequence of reagents used for converting nitrobenzene into m-dibromobenzene ?

NO:2 Br

Br

Sn /HCI / NaNO , /HCI / CuBr /HBr

3

(1) Br, /Fe

> /

(2) Sn /HCI s/ KBr 5/ Br, 5 / H"_)
> /
>/

(3) Sn /HCI Br, }/ NaNO , !II NaBr

(4) NaNO ,

HCI / KBr ’ H*

Ny
>

—
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What is the correct sequence of reagents used for converting nitrobenzene into m-dibromobenzene ?

NO:2 Br

Br

Sn /HCI / NaNO , /HCI / CuBr /HBr

3

(1) Br, /Fe

> /

(2) Sn /HCI s/ KBr 5/ Br, 5 / H"_)
> /
>/

(3) Sn /HCI Br, . ’ NaNO , / NaBr

(4) NaNO ,

HCI / KBr ’ H*

Ny
>

—

Ans=1
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NH:2 NH2 NH:2
HNO 3,H,S0 ., + %
288 K §
NO:2
NO:2
(A) (B)

(C)

Aromatic Compounds

NH2

Correct statement about the given chemical reaction is :
(1) —NH, group is ortho and para directive, so product (B) is not possible.
2) The reaction will form sulphonated product instead of nitration.

(
(3) Reaction is possible and compound (A) will be major product.
(4) Reaction is possible and compound (B) will be the major product.
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NH:2 NH2 NH:2
HNO 3,H,S0 ., + %
288 K §
NO:2
NO:2
(A) (B)

(C)

Aromatic Compounds

NH2

Correct statement about the given chemical reaction is :
(1) —NH, group is ortho and para directive, so product (B) is not possible.
2) The reaction will form sulphonated product instead of nitration.

(
(3) Reaction is possible and compound (A) will be major product.
(4) Reaction is possible and compound (B) will be the major product.

Ans =3
P major(54%), meta minor(44%), ortho least 2% approx
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Aromatic Compounds

O

Brz
> IA!
AlBr3(C2Hs)20 ~ (Major Product)

Consider the given reaction the product A is:

O 0O

(1) 2) @)\/\(
Br
Br
o /@)\/\/ ”
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Aromatic Compounds

O

Brz
> IA!
AlBr3(C2Hs)20 ~ (Major Product)

Consider the given reaction the product A is:

O O
() 2) @)\/\(
Br
Br
o & Br
. /@)\/\/ "
Br
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Aromatic Compounds

The major product of the following reaction is:

COCHz3
(i) KMnO, /KOH,A
cH (i) H,SO 4 (dil)

3

COCHa3 COOH
0 S 0, S
OHC

HOOC

COOH COCOOQOH
el el

HOOC HOOC

W
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Aromatic Compounds

The major product of the following reaction is:
COCHs3
/©/ (i) KMnO,, /KOH, A
- (ii) HySO 4 (dil)
COCHs3 COOH
e el
OHC

HOOC

COOH COCOOQOH
el el

HOOC HOOC

W

Ans =3
At benzylic position, Ketone is also oxidised.
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Aromatic Compounds

The major product of the following reaction is :

CH2CHs
(i) alkaline KMnQO4 .
(ii)) H3O*
COCHs CH2CHO CH2COQOH COOH

Qe e Q)
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Aromatic Compounds

The major product of the following reaction is :

CH2CHs
(i) alkaline KMnQO4 .
(ii)) H3O*
COCHs CH2CHO CH2COQOH COOH

(1) (2) (3) (4)

Ans =4
At benzylic position oxidation takes place



By
Sinha Sir, Kota

Aromatic Compounds

|dentify A in the given chemical reaction :

CHs CHs

I I

CH2—CH>—CH>—CH-CH3 _ Mo:0; | (O
T73K major product
10 -20 atm

CHs CHs
(" @ @ O/ @ O @ O/
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Aromatic Compounds

1)Zn [ HCI

2)Crp04,773 K
10 -20 atm

Considering the above reaction, the major product among the following is :

CH2CHs CH2CH2CHs COCH2CH3

'S G 0 0
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Aromatic Compounds

1)Zn [ HCI

2)Crp04,773 K
10 -20 atm

Considering the above reaction, the major product among the following is :

CH2CHs CH2CH2CHs COCH2CH3

'S G 0 0

Ans =2
Reduction folloewd by aromatization



By
Aromatic Compounds . .
P Sinha Sir, Kota

In which of the following reaction/s will not give p-aminoazobenzene ?

NO2
A - (i) Sn/HCI
(ii) HNO:2
(iii) Aniline
NO2
B - (i) NaBHa4
(i) NaOH
(iii) Aniline
NH2
. (1) HNO:2 .
(i) Aniline, HCI

(1) A only (2) B only (3) C only (4) Aand B
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In which of the following reaction/s will not give p-aminoazobenzene ?

NO:2
A - (i) Sn/HCI
(i) HNO2
(iii) Aniline
NO2
B - (i) NaBHa4
(i) NaOH
(iii) Aniline
NH:
i) HNO
. (i) HNO2 .
(i) Aniline, HCI
(1) A only (2) B only (3) C only (4) Aand B
Ans =4

Aniline in acidic medium form Azo dye.



Aromatic Compounds

CHs COOH

OCHs OCHs

In the above reaction, the reagent “A” is

(1) LiAIHq (2) HCI, Zn—Hg

By
Sinha Sir, Kota

(3) Alkaline KMnOs, H* (4) NaBHa, HaO*
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Aromatic Compounds

CHs COOH

OCHs OCHs

In the above reaction, the reagent “A” is

(1) LiAlH4 (2) HCI, Zn—Hg (3) Alkaline KMnOa4, H" (4) NaBHa4, HzO"

Ans =3
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Reaction of Grignard reagent, C2HsMgBr with CsHsO followed by hydrolysis gives compound "A" which
reacts instantly with Lucas reagent to given compound B, C1oH13CL.
The compound B is"

Cl
Cl CHs CHs CHs
&
(1) CHs 2) CHs (3) CHs (4)
cl

Aromatic Compounds
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Reaction of Grignard reagent, C2HsMgBr with CsHsO followed by hydrolysis gives compound "A" which
reacts instantly with Lucas reagent to given compound B, C1oH13CL.
The compound B is"

Aromatic Compounds

Cl
Cl CHs CHs CHs
Cl
(1) CHs; 2) CHs (3) CHa (4)

Cl

Ans =3
3 degree alcohol at benzylic position
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Aromatic Compounds

Identify A in the following reaction.

NH2

@ K0, A
O
NH-2 NQO> NO:
(1) /©/ 2) 3) O<H () ©/
KO
@)
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Aromatic Compounds

Identify A in the following reaction.

NH2

O
NH:2 NO- NO2
1) /©/ @ ) O<H @ ©/
KO
@)

Ans =2
Oxidation of aniline with acidified potassium dichromate gives p-benzoquinone.



